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P-1Ex+1 2 A&502 Y of

A2 4= UHA7d, ¢, b7F HAL upA| 2 50 ¢ o]t

! 1 0 0 -1
-1 1 -1
=1 1 -1 1| -2 « d
1 2

=1 1 =2 3 « c

1

[

1
T

a




10. o5 -S40l k9 gholl TAIgle] & AHD ), xy o] gh= F-5heizth.
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19. f(x) =33+ px® +qx+12 7 x+2 2 YRojdojz]a, x-1 2%
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f(=2)=-24+4p-2g+12=0
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x o et oFhA] 4x® - 3x2 +ax+b 7Hx+1)(x-3) &
a+ b9 e Asteiet.
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fx+1)=(*>+2x-3)0(x) +ax+b
=(x+3)(x-1)0(x) +ax+b
x=-32HYst4A f(-2)=-3a+b=6
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32. 33 -5x+2=a(x-1P3+b(x-1)2+c(x-1)+d o] x°l o
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O -16 @)16 ® 20 @ 23

® 25
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(x> =2x+1)k+ (x-y-1)=0
o] Ao] k9] Zholl ARl AHT 22
-2x+1=0,x—y-1=0
Lx=1,y=0
o A(1,0)
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34. TE AE xof diste] 410 41 =a0+a1(x—1)—|—a2(x—1)2+..._|_
aro(x—1)100] AEF W, ag +as +ayg + -+ + ayo & S Fotod et

> E

> =t 513

S5 ,
FHof x = 0 thYstHH
l=ay—a;+as—-+ayp D
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PEAIRR x = 0,27 = -1 217} s,

whakA R(2006) = 2007
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x=-12HYstH R =29
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